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QUESTION 1

The functional currency of Company X is USD. Company X placed a purchase order on supplier Y on 01SEP-2007, for
one unit of item A at a unit price of Euro 80. According to the exchange rate on 01-SEP2007, Euro 80 = USD 100.

Goods are received on 05-OCT-2007. Due to exchange rate changes, at this time Euro 80 is now
equivalent to USD 105.

The standard cost of the item is USD 75.

Freight charge = USD 10.

Handing charge = USD 5.

The Purchase Price variance for this transaction is
A. USD 25

B. USD 30

C.USD 35

D. USD 40

E. USD 45

F. USD 50

Correct Answer: B

QUESTION 2

A client often orders an item by the case but stocks the item as individual units by using the Each unit of measure
(UOM). The client orders the item from three suppliers, and the case sizes differ by supplier (10, 12, and 50). What is
the proper way to set up these units of measure?

A. Always use the Each UOM and do not create purchase orders for cases.

B. Create a Case UOM and an Each UOM, and assign them to different UOM classes.

C. Create a Case UOM and an Each UOM, and assign both of them to the same UOM class.

D. Create multiple CaseX UOMs, where X is the quantity per case, and an Each UOM, and assign them to the same
UOM class.

E. Create multiple CaseX UOMs, where X is the quantity per case, and an Each UOM, and assign them to different
UOM classes.

Correct Answer: D
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QUESTION 3

Identify two implementation considerations for document security, routing, and approval. (Choose two.)
A. A position hierarchy can never be the same as the employee-supervisor hierarchy.

B. You can define either the document total or an account range in an Approval Group.

C. You must complete the relevant purchasing options before setting up the Position Hierarchy for purchasing
documents.

D. You must define one position hierarchy, including all positions that require access to the document types you want to
control, with a Security Level of \V'Purchasing\\'.

E. All potential approvers must have a login username; if you forward a purchasing document to an approver who does
not have a login username, purchasing alerts you with a warning.

Correct Answer: CE

QUESTION 4

Which three statements are true about ABC analysis? (Choose three.)

A. The ABC class is an item attribute.

B. There can be only three classes-A, B, and C.

C. An ABC class must be assigned to at least one ABC group.

D. ABC classes can be used to group items for planning purposes.

E. ABC classes can be used to identify the value groupings to which your items belong.

Correct Answer: CDE

QUESTION 5

Your client has two inventory organizations (INV ORG 1 and INV ORG 2). The organizations have different business
requirements for stock locator control:

INV ORG 1: Locators must have: Building identified Stockroom designated Row Rack Bin INV ORG 2: Locators must
have: Row Rack Bin Position within Bin

Which solution would meet both organizations\\' requirements?

A. Establish stock locator flexfields as five segments. INV ORG 2 can use the first segment as Row.

B. Establish stock locator flexfields as four segments. INV ORG 2 can use DFF for Position within Bin.

C. Establish stock locator flexfields as five segments. INV ORG 2 can leave the fifth segment with a default value.

D. Establish stock locator flexfields as four segments. INV ORG 1 can create DFF and use that as Building identifier.
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E. Establish stock locator flexfields as six segments. INV ORG 1 can create locators where the sixth segment can be a
default value.

Correct Answer: C

Latest 170-520 Dumps 170-520 Study Guide 170-520 Braindumps

Latest 120-520 Dumps | 120-520 Study Guide | 1Z20-520 Braindumps 4/4


https://www.pass4itsure.com/1z0-520.html
https://www.pass4itsure.com/1z0-520.html
https://www.pass4itsure.com/1z0-520.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-520.html
https://www.pass4itsure.com/1z0-520.html
https://www.pass4itsure.com/1z0-520.html

